H & 0l & AHS B Ml A

FA S2telt
B SAPH
gl HesAl(Y-TAIRISESA) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
s2elt 12,013,656 9,226,287 2,787,369
= 1,057,000
== 3,190,537
[Ea 7,766,119
+HEH 12,012,256 8,927,079 3,085,177
= 1,057,000
< 3,190,537
T 7,764,719
HesS2ol(A=CAIESESIAH) 11,505,175 8,428,681 3,076,494
= 1,057,000
== 3,081,400
o 7,366,775
=T A2 2l 1,936,967 2,106,909 169,942
201 2= 1,745,367 1,860,309 A114,942
01 AtR2t2lt] 68,287 78,239 A9,952
OARE 2237Y 50,000 * 122 600
O=%= SE2=21IM M=
5002 10,0005 5,000
OS8R aF3dsE
70,0002 x5 *23] 700
O+t SYHOY 42228 7Y
100,000& «12& 1,200
Og=C SYHO 32 NEHl S
50,0002 123 600
Og=J| gtz 70,0003 * 128 840
O3J18&87| Sxz 34,9002~ 128 419
Od=E SYHOE =Y
350,000 *42! 1,400
Od=k A2 =0 S
9,0003 x4 *12) 20 3,888
Ol & 255 7
32,840,000 32,840
O=ZASIN(B=X, 22 S) F=HAHIZ
600,000& 2824 16,800
O&=& N4 2etE2 8 Fe
400,000 * 107K 4,000
02 S3=gHl 1,677,080 1,782,070 104,990
OAld=2teld 397,080
—Hi==X € Ot E &H1es
17,000,000& «12& 204,000
—SYHOHAAAERHAISE
6.,000,0002 * 12& 72,000
—afot=X g3l 920,000& 920
—d=TAESOIE Bi=X, 2ER &)
2t 70,000,000 70,000
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2A: Sl
B SAPH
SH9l: =2 PRI (AT AIRISEEI) (choy: @2
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
—ARBETAIE A
5,100 *1,250E 23| 12,750
—Hi==Xl HAH|
2, 1503 +8, 700E#23] 37,410
OSsig BAMLE 2 Ha 242
1,280,000,000& 1,280,000
202 04b| 26,400 26,400
01 2L Y| 26,400 26,400
OM+TAIE Rle =7
20,000& x5+ 102« 1201 & 12,000
OM4E YD ZX
20,000 *3H 10 = 1200 2 7,200
OM%CHgE U pANS 22E
20,0003 *2H 10 * 1200 = 4,800
OatL8 5 1A E|
20,0003 *1H*10L = 1201 & 2,400
301 LEtEX 2 200 200
14 J|EI2 &= 200 200
OXNgaleE S 31 ZAZ XS
20,0002 %10 200
401 A& H| L E0HY] 165,000 220,000 A55,000
01 Al&HI 165,000 220,000 55,000
OIS At 1,250,000& *120AH 150,000
Oat=T A2 D] A
15,000,000 15,000
MEE LS DAY 2,812,508 841,472 1,971,036
201 LEr2AH| 30,508 30,508 0
01 AtR2t2lbl 4,000 4,000 0
OM%E427 ADERHPY
4,000,000 4,000
02 B22ZH| 26,508 26,508 0
OMaTea=ax2 S5
1, 7963 %35 4 *3CH*100L 18,858
OM4EF4=2TE ST
150,000& *3CH*x 128 5,400
OMeTea=ax2t HHZHE
2,250,000& 2,250
401 A& H|ILE0HY] 2,782,000 782,000 2,000,000
01 Al&H| 2,780,000 780,000 2,000,000
OMXZAEE 218E2R(ES)Z2 AL
2,500,000& x25221 630,000
OXlgat=E2tZ 0|4
200, 0002 *250m 50,000
O AAERX| 22| E2A
1,100,000,000& x 14 1,100,000
OM4T BRI B
1,000,000,000& * 1A 1,000,000
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FA S2telt
B SAPH
ol oS R (ALTARISES ) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—301)& A4E 22X SUHA(NL2BUSII2 £X 2,802,000 1,602,000 1,200,000
A
= 1,400,000
Ea 1,402,000
401 AIEHIX S0 2,802,000 1,602,000 1,200,000
= 1,400,000
o 1,402,000
01 A28l 2,800,000 1,600,000 1,200,000
SSINT NYALE AR
2,800,000,000& 2,800,000
[ 1,400,000
T 1,400,000
03 Al 2 CHHI 2,000 2,000 0
ST Ngat=Z At A2 20
2,000,000 2,000
AT AEE BZAHKEA) 50,000 100,000 /50,000
401 Al HIZ S 0HYI 50,000 100,000 50,000
01 A28l 50,000 100,000 /50,000
OHHMAT 25 NES(SEIRI) 24 BA
50,000,000 *14! 50,000
AT EHIAY 1,268,400 0 1,268,400
= 1,057,000
== 211,400
401 AlZHIZ SO 1,268,400 0 1,268,400
= 1,057,000
< 211,400
01 A28l 1,268,400 0 1,268,400
CEa=E UM 1,268,400
= 1,057,000
= 211,400
AN Hadssed 2FAE 851,000 0 851,000
< 585,000
= 256,000
401 AlEHIZL SO 851,000 0 851,000
= 595,000
= 256,000
01 Al&H| 850,000 0 850,000
OMRIT-EAHSH2T NYNEE HIABS
2 A=A 850,000,000 * 14 850,000
= 595,000
o 255,000
03 Al 20HHI 1,000 0 1,000
OXgasr Hlasay AEAE AER
Bl 1,000,000 1,000
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